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Q1: They all have 1 electron in the outer shell Q3: The amount of electrons increases
by 1 each time
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Q2: They all have full outer shells
Helium He (2)
Neon Ne (10)

Argon Ar (18)
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Ql: Q2:
T Proton number: 15 Number of protons: 19p+
~ Nucleon number: 15+16=31 Number of neutrons: 39-19=200
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Q3
Make sure to show the number of protons in the nucleus
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o

WB/ Page 71 WB/ Page 71

Q1 Q3

¢ 0
" 23 _---
R 3-2 Beryllium

Sodium




\

Goment oyt Atomi | Wass | Nmberof | amer | Nmberar
number | number | electrons | of protons | neutrons
Boron B | 5 | 11 5 5 6
Neon Ne | 10 | 20 10 10 10
Alumium | Al | 13 | 27 [13 13 14

Sodium | Na | 11 | 23 11 11 12

Magnesium Mg (12 24 12 12 12
krypton | Kr | 36 | 84 36 36 48

Fluorine : 9 | 19 5 E 10
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